
 

 

CCC QUESTION PAPER (2022-2023) 4th 
(Question based on Previous Exams) 

Number of Question-100 

Time Duration-90 minute 

 1.What is meant by fishing? 
A) Hack 
B) None 
C) Identity Theft 
D) Spam 
  

Ans: C) Identity Theft 

 

2. What is meant by .coursera? 
A) E-learning 
B) E-commerce. 
C) E Governece. 
D) E-check 
  

Ans: A) ) E-learning 

 

3.Which of the following is the first web browser? 
A) Netscape 
B) Opera 
C) Internet Explorer 
D) Mozilla 
  

Ans: A) Netscape 

 

4.The founder of Telegram among the following is ______? 
A) Nikolai Durov 
B) A And C 



 

 

C) Pavel Durov 
D) Johan Maccarthy 
  

Ans: B) A And C 

 

5.Which of the following protocol is lightweight? 
A) Spi 
B) Http 
C) Mqtt 
D) Coap 
  

Ans: C) Mqtt 
  

 

6.Which of the following shortcut key is used to enter function in LibreOffice 
Calc? 
A) Ctrl + F3 
B) Shift + F3 
C) Shift + F2 
D) Ctrl + F2 
  
Ans: D) Ctrl + F2 

  

7.Which of the following OLX What model is it based on? 
A) B2c 
B) B2b 
C) C2c 
D) C2b 
  
Ans: C) C2c 
 

 

8.Rupay Card was issued by which of the following? 
A) Npci 
B) None 



 

 

C) Rbi 
D) SBI 
  
Ans: A) Npci 
 

 

9.Which of the following is the default extension of LibreOffice Impress file? 
A) .odp 
B) .doc 
C) .ext 
D) .com 
  
Ans: A) .odp 

 

10.In which of the following menus the Donate To Libre Office command is present in 
LibreOffice? 
A) Help 
B) View 
C) Format 
D) Tools 
  
Ans: A) Help 

 

11.Which of the following is a feature of Slide Master present in LibreOffice Impress? 
A) Object 
B) Slides 
C) File 
D) Impress 
  
Ans: B) Slides 
 

12.What is the maximum storage capacity provided to us for free in Google Mail? 
A) 15 Gb 
B) 25 Gb 
C) 5 Gb 



 

 

D) 10 Gb 
  
Ans: A) 15 Gb 
 

13.Which of the following option is not a part of pop-up comment? 
A) Reply And Delete Comments 
B) Delete All Comments 
C) Delete Comment 
D) Reply Comment 
  
Ans: A) Reply And Delete Comments 

 

14.By whom was the Data Encryption Standard (Des) designed? 
A) Intel 
B) Ibm 
C) Hp 
D) Microsoft 
  
Ans: B) Ibm 

 

15.How many of the following steps take place in the chart wizard present in the chart 
option in LibreOffice Calc? 
A) 4 
B) 5 
C) 2 
D) 3 
  
Ans: A) 4 

 

16.What is the full name of Code? 
A) Internet Financial Service Code 
B) None Of These 
C) Indian Financial System Code 
D) Indian Financial Service Code 
  



 

 

Ans: C) Indian Financial System Code 
 

17.Which Of The Following Is An Example Of Secondary Memory? 
A) Eprom 
B) Hdd 
C) Rom 
D) Ram 
  

Ans: B) Hdd 

 

 

18.What Level Of Language Is The Java Programming Language? 
A) High Level 
B) Low Level 
C) First Level 
D) Level Ii 
 
Ans: A) High Level 

 

19.Which Of The Following Is The Maximum Width Of A Column In Libreoffice 
Calc? 
A) 300 
B) 400 
C) 100 
D) 200 
  

Ans: C) 100 

 

20.The Source Code Of Which Of The Following Types Of Software Can Be 
Viewed By The Users? 
A) Semi Closed 
B) A And B Both 
C) Open Source 
D) Close Source 
  



 

 

Ans: C) Open Source 

 

21.What Is The Number Of Cvv displayed In The Atm Card? 
A) 1 
B) 2 
C) 3 
D) 4 
 
Ans: C) 3 
 

22.Which Of The Following Memory Is Contained In The Central Processing Unit? 
A) Register 
B) Hdd 
C) Ram 
D) Cache 
  

Ans: A) Register 

 

23.What Is The Shortcut Key To Refresh? 
A) F1 
B) F2 
C) F4 
D) F5 
 
Ans: D) F5 
 

24.Which One Of The Following Shortcut Keys Is Used To Restart The Computer? 
A) Ctrl + Alt + Del 
B) Ctrl + Del 
C) Ctrl + Alt + Enter 
D) Ctrl + Alt + Shift 
  

Ans: A) Ctrl + Alt + Del 

 



 

 

25.For How Many Days Does A Deleted Email Lie In The 'trash Folder'? 
A) 10 
B) 20 
C) 30 
D) 40 
 
Ans: C) 30 
 

26.What Is The Shortcut Key To Add A Hyperlink To A Slide In Libreoffice Impress? 
A) Ctrl + A 
B) Ctrl + K 
C) Ctrl + H 
D) None 
 
Ans: B) Ctrl + K 
 

27.What Does 'p' Stand For In Aeps? 
A) Payment 
B) Pay 
C) Position 
D) Proof 
 
Ans: A) Payment 
 

 28.Where is the outgoing email stored temporarily? 
A) Sent Box 
B) Out Box 
C) Inbox 
D) Trace 
  

Ans: B) Out Box 

 

29.Which of the following symbol indicates Twitter trending? 
A) @ 
B) # 



 

 

C) % 
D) & 
  

Ans: B) # 

 

30.FSF was established by which of the following? 
A) Richard Stallman 
B) Mark Shuttleworth 
C) Bill Gates 
D) Paul Allen 
  

Ans: A) Richard Stallman 

 

31.Which of the following option can be used to recover accidentally deleted 
email? 
A) Out Box 
B) Sent Box 
C) Trace Box 
D) Inbox 
  

Ans: C) Trace Box 

 

32.What should be the password and username for .email? 
A) Anyone 
B) None 
C) Unique And Loose 
D) Unique And Strong 
  

Ans: D) Unique And Strong 

 

33.Which of the following is the shortcut key for Formatting Mark? 
A) Shift + F10 
B) Ctrl + F1 
C) Ctrl + F10 



 

 

D) Ctrl + F8 
  

Ans: C) Ctrl + F10 

 

34.Which of the following is the time limit for posting audio on Twitter? 
A) 240 Sec 
B) None 
C) 140 Sec 
D) 5 Min 
  

Ans: C) 140 Sec 

 

35.Which of the following hacking is learned to help in government work? 
A) Cracking 
B) Non Ethical Hacking 
C) Ethical Hacking 
D) Hactivism 
  

Ans: C) Ethical Hacking 

 

36.The efficiency of a laser printer is measured by which of the following? 
A) Cpm 
B) Non 
C) Dpi 
D) Ppm 
  

Ans: C) Dpi 

 

37.Hyperlinking is done by which of the following shortcut key? 
A) Ctrl + Shift + K 
B) Alt + K 
C) Ctrl + K 
D) Shift + K 
   

Ans: C) Ctrl + K 



 

 

 

38.Where among the following is the head quarter used in LibreOffice Writer? 
A) Top of the page 
B) at the bottom of the page 
C) on the left side of the page 
D) none 
  

Ans: D) none 

 

39.In which of the following year ₹ 10 coin was issued in India? 
A) 2000 
B) 2003 
C) 2005 
D) 2008 
  

Ans: C) 2005 
  

40.Which of the following is not a computer language? 
A) Middle Level Language 
B) none of these 
C) High level language 
D) Low level language 
  

Ans: A) Middle Level Language 

 

41.Which of the following represents row in LibreOffice Calc? 
A) %, #, @ 
B) none of these 
C) 1, 2, 3 
D) A, B, C 
  
Ans: C) 1, 2, 3 
 

42.The pursuit of fair and ethical behavior related to the online environment is called 
_______? 



 

 

A) Cyber Safety 
B) Cyber Law 
C) Cyber Ethics 
D) Cyber Security 
  
Ans: C) Cyber Ethics 

 

43.What is the full form of Cvv? 
A) Card Verification Value 
B) Card Verified Value 
C) Card Virtual Value 
D) None 
  
Ans: A) Card Verification Value 

 

44.Which of the following is based on the advertising per click model? 
A) Feedback 
B) Referral Links 
C) Signal 
D) Search Advertising 
  
Ans: D) Search Advertising 

 

45.Which of the following computer programming language was first used to write 
programs? 
A) Source code 
B) none of these 
C) Assembly language 
D) Machine Language 
  
Ans: D) Machine Language 

 

46.Which of the following is the file extension of LibreOffice Calc? 
A) .otp 
B) .ods 



 

 

C) .ott 
D) .ots 
  
Ans: D) .ots 
 

47.In which of the following menu of LibreOffice Calc, Comment option is present? 
A) Format 
B) Insert 
C) View 
D) Data 
  
Ans: B) Insert 
 

48.Which of the following is the maximum size of a slide in LibreOffice Impress? 
A) 1 Gb 
B) No Limit 
C) 1 Kb 
D) 256 Mb 
  
Ans: B) No Limit 

 

49.By which of the following files are sent through email? 
A) Downloading 
B) Forwarding 
C) Uploading 
D) Attachment 
  
Ans: D) Attachment 

 

50.Which Of The Following Is An Email Client In Ubuntu? 
A) Thunder Bird 
B) Outlook Express 
C) Twitter 
D) Hot Bird 
  



 

 

Ans: A) Thunder Bird 

 

51.Which Of The Following Is The Protocol Used To Send Email? 
A) Imap 
B) Pop3 
C) Smtp 
D) Tcp 
 
Ans: C) Smtp 

 

52.Which Of The Following Bank First Introduced The Credit Card In India? 
A) Bank Of Baroda 
B) Icici Bank 
C) Canara Bank 
D) Central Bank Of India 
  

Ans: D) Central Bank Of India 

 

53Which Of The Following Separates Domain Name From Username? 
A) & 
B) $ 
C) 
D) * 
 
Ans: C) 

 

54.Which Of The Following Is The Number Of Seats By Default In Libreoffice Calc 
6.0? 
A) 3 
B) 5 
C) 1 
D) 2 
  

Ans: C) 1 

 



 

 

55.What Will Be The Value Of '=ceiling(21,7)'? 
A) 20 
B) 21 
C) 22 
D) 23 
 
Ans: B) 21 

 

56.Which Shortcut Key Is Used For Help In Libreoffice Impress? 
A) F3 
B) F4 
C) F1 
D) F5 
 
Ans: C) F1 

 

57.Which Of The Following Is Not Available In Email? 
A) Replay All 
B) Forward All 
C) Replay 
D) Forward 
  

Ans: C) ) Replay 

 

58.Through Which Of The Following Protocols Email Is Received? 
A) Tcp 
B) Smtp 
C) Pop3 
D) Imap 
 
Ans: C) Pop3 

 

59.What Is Meant By Landscape And Portrait? 
A) Web Layout 
B) Margin 



 

 

C) Orientation 
D) Page Setup 
  

Ans: C) Orientation 

 

60.In Which Of The Following Year Umang App Was Launched? 
A) 2017 
B) 2018 
C) 2015 
D) 2016 
  

Ans: A) 2017 

 

61.What Will Be The Value Of =abs(-150.59)? 
A) -150.50 
B) 150.00 
C) -150.59 
D) 150.59 
 
Ans: D) 150.59 
 

62.In Which Of The Following Menus Of Libreoffice Writer Is The Direct Cursor 
Mode Option Present? 
A) Edit 
B) File 
C) Format 
D) View 
  

Ans: B) File 

 

63.How Many Of The Following Steps Are Available For Mail Merge? 
A) 6 
B) 7 
C) 4 



 

 

D) 5 
  

Ans: D) 5  

 

64.On which of the following animation scheme can be applied in LibreOffice Impress 
presentation? 
A) Current Slide 
B) All Of The Above 
C) All Slides 
D) Select Slides 
  
Ans: B) All Of The Above 

 

65.Suppose the G7 cell is active, now where will the cursor move on pressing the Home 
key? 
A) G7 
B) F7 
C) G1 
D) A7 
  
Ans: D) A7 
 

66.Which of the following is included in the subject of the message? 
A) Image 
B) Only Image 
C) Text 
D) Both Text And Image 
  
Ans: C) Text 
 

67.Which of the following option will be used to delete data from the cell at once? 
A) Spacebar 
B) Back Space 
C) Enter 
D) None 



 

 

  
Ans: A) Spacebar 
 

68.In which of the following bars of LibreOffice Writer, the Overwrite Mode and Insert 
Mode options are displayed? 
A) Menu Bar 
B) Tool Bar 
C) Formatting Bar 
D) Status Bar 
  
Ans: D) Status Bar 

 

69.Which of the following is used to display the contents of a certain drive or folder? 
A) Triple click on the drive or folder 
B) Double click on the drive or folder 
C) Click on a drive or folder while holding down the Alt key 
D) Right click on the drive or folder 
  
Ans: B) Double click on the drive or folder 

 

70.Which of the following is the default slide layout of LibreOffice Impress? 
A) Title and Content 
B) Title Slide 
C) Title And Two Content 
D) All Of These 
  
Ans: B) Title Slide 
 

71.Which of the following option is not available while deleting cell from LibreOffice 
Calc? 
A) Deleted Entire Row 
B) Shift Cell Up 
C) Shift Cell Left 
D) Shift Cell Down 



 

 

  
Ans: D) Shift Cell Down 

 

72.Spamming and Fleming both are same. 
A) True 
B) False 
  
Ans: B) False 

 

73.A converted file can be closed without saving. 
A) True 
B) False 
  
Ans: A) True 
 

74.It is impossible to enter $ and # in the name of a file. 
A) True 
B) False 
  
Ans: B) False 
 

75.The fruit form of Fat is 'File Allocation Table'? 
A) False 
B) True 
  
Ans: A) False 

 

76.File is also called directory. 
A) True 
B) False 
  
Ans: B) False 
 



 

 

77.Ussd service is available for user session only. 
A) True 
B) False 

  
Ans: A) True 

 

78.What is the shortcut key for Auto Text in LibreOffice Writer? 
A) Alt + F3 
B) None 
C) Shift + F3 
D) Ctrl + F3 
  

Ans: D) Ctrl + F3 

 

79.What are the three addresses found in a Uniform Resource Locator? 
A) Protocol 
B) Domain 
C) Word Wide Web 
D) All 
  

Ans: D) All 

 

80.Which option is not present while inserting cells in LibreOffice Calc? 
A) Shift Cell Down 
B) Shift Cell Up 
C) Entire Row 
D) Entire Column 
  

Ans: B) Shift Cell Up 

 

81.Which of the following Indian political party launched its website? 
A) Bjp 
B) Inc 
C) Dmk 



 

 

D) Aidmk 
  

Ans: A) Bjp 

 

82.Converts the scanner image to output. 
A) True 
B) False 
  

Ans: B) False 

 

83.CD Rom does not read DVD's audio and video data. 
A) True 
B) False 
  

Ans: A) True 

 

84.Primary memory is permanent memory. 
A) True 
B) False 
  

Ans: B) False 

 

85.Can an amount of 100000 be sent under RTGS. 
A) True 
B) False 
  

Ans: B) False 

 

86.The communication path between the microprocessor, RAM and the devices 
connected to the computer is called 'data bus'. 
A) True 
B) False 
  

Ans: A) True 



 

 

 

87.Does the Internet use 'circuit switching'? 
A) True 
B) False 

  

Ans: B) False  

 

88.Slideshow in LibreOffice Impress is the same as slide shortener by default. 
A) True 
B) False 

  

Ans: B) False 

 

89.What is meant by terminal? 
A) Device To Give Power Supply To Computer 
B) Point At Which Data Enters Or Leaves The Computer 
C) Any Input/output Device 
D) The Last Instruction In A Program 
  

Ans: B) Point At Which Data Enters Or Leaves The Computer 

 

90.Which of the following font size option is not available in the drop down 
menu of Font size in LibreOffice Writer? 
A) 10 
B) 13 
C) 19 
D) 24 
  

Ans: C) 19 

 

91.Which of the following option is not a part of 'Pop Up Comment'? 
A) Delete Comment 
B) Reply & Deleted Comment 
C) Delete All Comments 



 

 

D) Reply Comments - Ressolv 
  

Ans: B) Reply & Deleted Comment 

 

92.Which of the following option is available while entering a new column in 
LibreOffice Calc? 
A) Insert Column Above 
B) Insert Column After 
C) Insert Column Center 
D) Insert Column Below 
  

Ans: B) Insert Column After 

 

93.What is the PIN number of an ATM card? 
A) 4 
B) 2 
C) 6 
D) 8 
  

Ans: A) 4 

 

94.Which of the following is not an example of a mobile operating system? 
A) Symbian 
B) Windows 10 Mobile 
C) Los 
D) Dos 
  

Ans: D) Dos 

 

95.What is the line drawn over the text of the following called? 
A) Overline 
B) Upperline 
C) above the line 
D) none of these 
  



 

 

Ans: A) Overline 

 

96.The time limit for live video on Facebook is _______? 
A) 8 Hours 
B) 24 Hours 
C) 1 Hour 
D) 4 Hours 
  

Ans: A) 8 Hours 

 

97.Which is the shortcut to do full screen in Google Chrome web browser? 
A) Ctrl + F11 
B) Shift + F11 
C) Ctrl + Shift + F11 
D) F11 
  

Ans: D) F11 

 

98.Which of the following options can share printers in Windows 10? 
A) Sharing 
B) General 
C) Devices 
D) Shared 
  

Ans: A) Sharing 

 

99.Which of the following option is not available while adding cells in LibreOffice 
Calc? 
A) Shift Cell Down 
B) Shift Cell Up 
C) Shift Cell Right 
D) Entire Row 
  

Ans: B) Shift Cell Up 
 



 

 

 

100.Which of the following is not valid for a surprise sheet? 
A) Product() 
B) Nominal() 
C) Sum() 
D) Avg() 
  

Ans: D) Avg() 

 

 


